
WE420−7N

WE420−1N_2

−1,0
  1,8

−0,5
  3,6

  0,0
  18

  0,5
  90

  1,0
 180

xr=log[Y/Y18]
Y

A2/A1 = 0.106
A1 = 0.0391 A2 = 0.0041
A3 = 2.507 A4 = 0.556
Kittelmann_PO4_068A
(x,y,Y)u=(0,33, 0,36, 18)

−2,0

−1,5

−1,0

−0,5

  0,0
log [dY, ∆Y]

for achromatic colours
in WN-direction

dY=A1[1+A2/A1Y]

xr dYn Y
−1.0 0.0461.8
−0.5 0.062 5.6
0.0 0.113 18.0
0.5 0.275 56.9
1.0 0.785 180

WE420−2N_2

0,25
  1,8

0,75
  3,6

1,25
  18

1,75
  90

2,25
 180

xy=log[Y]
Y

A2/A1 = 0.106
A1 = 0.0391 A2 = 0.0041
A3 = 2.507 A4 = 0.556
Kittelmann_PO4_068A
(x,y,Y)u=(0,33, 0,36, 18)

−2,0

−1,5

−1,0

−0,5

  0,0
log [dY, ∆Y]

for achromatic colours
in WN-direction

dY=A1[1+A2/A1Y]

xr dYn log Y
−1.0 0.0460.25
−0.5 0.062 0.75
0.0 0.113 1.25
0.5 0.275 1.75
1.0 0.785 2.25

WE420−3N_2

−1,0
  1,8

−0,5
  3,6

  0,0
  18

  0,5
  90

  1,0
 180

xr=log[Y/Y18]
Y

A2/A1 = 0.106
A1 = 0.0391 A2 = 0.0041
A3 = 2.507 A4 = 0.556
Kittelmann_PO4_068A
(x,y,Y)u=(0,33, 0,36, 18)

−2,0

−1,5

−1,0

−0,5

  0,0
log [dY, ∆Y] dY=A1[1+A2/A1Y]

xr dYn Y
−1.0 0.0461.8
−0.5 0.062 5.6
0.0 0.113 18.0
0.5 0.275 56.9
1.0 0.785 180

Sn=dYCIELAB/dYJND=7.2

−1.0 1.8
−0.5 5.6
0.0 18.0
0.5 56.9
1.0 180

dYCIELAB

dYJND

DE2000

CIELAB

WE420−4N_2

−1,0
  1,8

−0,5
  3,6

  0,0
  18

  0,5
  90

  1,0
 180

xr=log[Y/Y18]
Y

A2/A1 = 0.106
A1 = 0.0391 A2 = 0.0041
A3 = 2.507 A4 = 0.556
Kittelmann_PO4_068A
(x,y,Y)u=(0,33, 0,36, 18)

−2,0

−1,5

−1,0

−0,5

  0,0
log [dY, ∆Y] dY=A1[1+A2/A1Y]

xr dYn log Y
−1.0 0.0460.25
−0.5 0.062 0.75
0.0 0.113 1.25
0.5 0.275 1.75
1.0 0.785 2.25

Sn=dYCIELAB/dYJND=7.2

−1.0 0.25
−0.5 0.75
0.0 1.25
0.5 1.75
1.0 2.25

dYCIELAB

dYJND

DE2000

CIELAB

WE420−5N_2

−1,0
  1,8

−0,5
  3,6

  0,0
  18

  0,5
  90

  1,0
 180

xr=log[Y/Y18]
Y

A2/A1 = 0.106
A1 = 0.0391 A2 = 0.0041
A3 = 2.507 A4 = 0.556
Kittelmann_PO4_068A
(x,y,Y)u=(0,33, 0,36, 18)

−2,0

−1,5

−1,0

−0,5

  0,0
log [dY, ∆Y] dY=A1[1+A2/A1Y]

xr dYn Y
−1.0 1.8
−0.5 5.6
0.0 18.0
0.5 56.9
1.0 180

Sn=dYCIELAB/dYJND=7.2

−1.0 0.024 1.8
−0.5 0.052 5.6
0.0 0.113 18.0
0.5 0.245 56.9
1.0 0.528 180

dYCIELAB

dYJND

DE2000

CIELAB

WE420−6N_2

−1,0
  1,8

−0,5
  3,6

  0,0
  18

  0,5
  90

  1,0
 180

xr=log[Y/Y18]
Y

A2/A1 = 0.106
A1 = 0.0391 A2 = 0.0041
A3 = 2.507 A4 = 0.556
Kittelmann_PO4_068A
(x,y,Y)u=(0,33, 0,36, 18)

−2,0

−1,5

−1,0

−0,5

  0,0
log [dY, ∆Y] dY=A1[1+A2/A1Y]

xr dYn log Y
−1.0 0.25
−0.5 0.75
0.0 1.25
0.5 1.75
1.0 2.25

Sn=dYCIELAB/dYJND=7.2

−1.0 0.024 0.25
−0.5 0.052 0.75
0.0 0.113 1.25
0.5 0.245 1.75
1.0 0.528 2.25

dYCIELAB

dYJND

DE2000

CIELAB

WE420−7N_2

−1,0
  1,8

−0,5
  3,6

  0,0
  18

  0,5
  90

  1,0
 180

xr=log[Y/Y18]
Y

A2/A1 = 0.106
A1 = 0.0391 A2 = 0.0041
A3 = 2.507 A4 = 0.556
Kittelmann_PO4_068A
(x,y,Y)u=(0,33, 0,36, 18)

−2,0

−1,5

−1,0

−0,5

  0,0
log [dY, ∆Y] dY=A1[1+A2/A1Y]

xr dYn Y
−1.0 1.8
−0.5 5.6
0.0 18.0
0.5 56.9
1.0 180

Sn=dYCIELAB/dYJND=7.2

−1.0 0.037 1.8
−0.5 0.069 5.6
0.0 0.113 18.0
0.5 0.354 56.9
1.0 1.12 180

dYCIELAB

dYJND

DE2000

CIELAB

WE420−8N_2

−1,0
  1,8

−0,5
  3,6

  0,0
  18

  0,5
  90

  1,0
 180

xr=log[Y/Y18]
Y

A2/A1 = 0.106
A1 = 0.0391 A2 = 0.0041
A3 = 2.507 A4 = 0.556
Kittelmann_PO4_068A
(x,y,Y)u=(0,33, 0,36, 18)

−2,0

−1,5

−1,0

−0,5

  0,0
log [dY, ∆Y] dY=A1[1+A2/A1Y]

xr dYn log Y
−1.0 0.25
−0.5 0.75
0.0 1.25
0.5 1.75
1.0 2.25

Sn=dYCIELAB/dYJND=7.2

−1.0 0.037 0.25
−0.5 0.069 0.75
0.0 0.113 1.25
0.5 0.354 1.75
1.0 1.12 2.25

dYCIELAB

dYJND

DE2000

CIELAB

WE421−1N_2

−1,0
  1,8

−0,5
  3,6

  0,0
  18

  0,5
  90

  1,0
 180

xr=log[Y/Y18]
Y

A2/A1 = 0.106
A1 = 0.0391 A2 = 0.0041
A3 = 2.507 A4 = 0.556
Kittelmann_PO4_068A
(x,y,Y)u=(0,33, 0,36, 18)

  0,0

  0,5

  1,0

  1,5

  2,0

dY=A1[1+A2/A1Y]

xr dYn Y
−1.0 0.046 1.8
−0.5 0.062 5.6
0.0 0.113 18.0
0.5 0.275 56.9
1.0 0.785 180

[∆Y]/dY=∆E*exp/∆E*85
for achromatic colours
in WN-direction

WE421−2N_2

0,25
  1,8

0,75
  3,6

1,25
  18

1,75
  90

2,25
 180

xy=log[Y]
Y

A2/A1 = 0.106
A1 = 0.0391 A2 = 0.0041
A3 = 2.507 A4 = 0.556
Kittelmann_PO4_068A
(x,y,Y)u=(0,33, 0,36, 18)

  0,0

  0,5

  1,0

  1,5

  2,0

dY=A1[1+A2/A1Y]

xr dYn log Y
−1.0 0.046 0.25
−0.5 0.062 0.75
0.0 0.113 1.25
0.5 0.275 1.75
1.0 0.785 2.25

[∆Y]/dY=∆E*exp/∆E*85
for achromatic colours
in WN-direction

WE421−3N_2

−1,0
  1,8

−0,5
  3,6

  0,0
  18

  0,5
  90

  1,0
 180

xr=log[Y/Y18]
Y

A2/A1 = 0.106
A1 = 0.0391 A2 = 0.0041
A3 = 2.507 A4 = 0.556
Kittelmann_PO4_068A
(x,y,Y)u=(0,33, 0,36, 18)

  0,0

  0,5

  1,0

  1,5

  2,0

dY=A1[1+A2/A1Y]

xr dYn Y
−1.0 0.046 1.8
−0.5 0.062 5.6
0.0 0.113 18.0
0.5 0.275 56.9
1.0 0.785 180

Sn=dYCIELAB/dYJND=7.2

−1.0 1.8
−0.5 5.6
0.0 18.0
0.5 56.9
1.0 180

[dY]/dY=∆E*00/∆E*ab

dYn=dY/Sn
dYn=dY/Sn

WE421−4N_2

−1,0
  1,8

−0,5
  3,6

  0,0
  18

  0,5
  90

  1,0
 180

xr=log[Y/Y18]
Y

A2/A1 = 0.106
A1 = 0.0391 A2 = 0.0041
A3 = 2.507 A4 = 0.556
Kittelmann_PO4_068A
(x,y,Y)u=(0,33, 0,36, 18)

  0,0

  0,5

  1,0

  1,5

  2,0

dY=A1[1+A2/A1Y]

xr dYn log Y
−1.0 0.046 0.25
−0.5 0.062 0.75
0.0 0.113 1.25
0.5 0.275 1.75
1.0 0.785 2.25

Sn=dYCIELAB/dYJND=7.2

−1.0 0.25
−0.5 0.75
0.0 1.25
0.5 1.75
1.0 2.25

[dY]/dY=∆E*00/∆E*ab

dYn=dY/Sn
dYn=dY/Sn

WE421−5N_2

−1,0
  1,8

−0,5
  3,6

  0,0
  18

  0,5
  90

  1,0
 180

xr=log[Y/Y18]
Y

A2/A1 = 0.106
A1 = 0.0391 A2 = 0.0041
A3 = 2.507 A4 = 0.556
Kittelmann_PO4_068A
(x,y,Y)u=(0,33, 0,36, 18)

  0,0

  0,5

  1,0

  1,5

  2,0

dY=A1[1+A2/A1Y]

xr dYn Y
−1.0 1.8
−0.5 5.6
0.0 18.0
0.5 56.9
1.0 180

Sn=dYCIELAB/dYJND=7.2

−1.0 0.024 1.8
−0.5 0.052 5.6
0.0 0.113 18.0
0.5 0.245 56.9
1.0 0.528 180

[dYn]/dY=∆E*ab/∆E*85

WE421−6N_2

−1,0
  1,8

−0,5
  3,6

  0,0
  18

  0,5
  90

  1,0
 180

xr=log[Y/Y18]
Y

A2/A1 = 0.106
A1 = 0.0391 A2 = 0.0041
A3 = 2.507 A4 = 0.556
Kittelmann_PO4_068A
(x,y,Y)u=(0,33, 0,36, 18)

  0,0

  0,5

  1,0

  1,5

  2,0

dY=A1[1+A2/A1Y]

xr dYn log Y
−1.0 0.25
−0.5 0.75
0.0 1.25
0.5 1.75
1.0 2.25

Sn=dYCIELAB/dYJND=7.2

−1.0 0.024 0.25
−0.5 0.052 0.75
0.0 0.113 1.25
0.5 0.245 1.75
1.0 0.528 2.25

[dYn]/dY=∆E*ab/∆E*85

WE421−7N_2

−1,0
  1,8

−0,5
  3,6

  0,0
  18

  0,5
  90

  1,0
 180

xr=log[Y/Y18]
Y

A2/A1 = 0.106
A1 = 0.0391 A2 = 0.0041
A3 = 2.507 A4 = 0.556
Kittelmann_PO4_068A
(x,y,Y)u=(0,33, 0,36, 18)

  0,0

  0,5

  1,0

  1,5

  2,0

dY=A1[1+A2/A1Y]

xr dYn Y
−1.0 1.8
−0.5 5.6
0.0 18.0
0.5 56.9
1.0 180

Sn=dYCIELAB/dYJND=7.2

−1.0 0.037 1.8
−0.5 0.069 5.6
0.0 0.113 18.0
0.5 0.354 56.9
1.0 1.12 180

[dYn]/dY=∆E*00/∆E*85

WE421−8N_2

−1,0
  1,8

−0,5
  3,6

  0,0
  18

  0,5
  90

  1,0
 180

xr=log[Y/Y18]
Y

A2/A1 = 0.106
A1 = 0.0391 A2 = 0.0041
A3 = 2.507 A4 = 0.556
Kittelmann_PO4_068A
(x,y,Y)u=(0,33, 0,36, 18)

  0,0

  0,5

  1,0

  1,5

  2,0

dY=A1[1+A2/A1Y]

xr dYn log Y
−1.0 0.25
−0.5 0.75
0.0 1.25
0.5 1.75
1.0 2.25

Sn=dYCIELAB/dYJND=7.2

−1.0 0.037 0.25
−0.5 0.069 0.75
0.0 0.113 1.25
0.5 0.354 1.75
1.0 1.12 2.25

[dYn]/dY=∆E*00/∆E*85


